CECS 572 -- A Sample Subnetting Problem
To be discussed in class on Monday, November 10, 2014.

Consider a router that interconnects three subnets: Subnet 1, Subnet 2 and Subnet 3.  Suppose all the interfaces in each of these three subnets are required to have the prefix 230.1.17/24.
Also suppose that Subnet 1 is required to support up to 31 interfaces, Subnet 2 is required to support up to 90 interfaces and Subnet 3 is required to support up to 12 interfaces. 
Provide three network addresses  (of the form a.b.c.d/x) that satisfy these constraints.
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